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TB (2—0)?+(—3—0)}+(0—6)E_ 2+ 32 67

7Bl J@+(-3)2+(-6)?2 7t 7
= T¢ _ (-0)i+(2-0)j+(0-6)k _ 37, 3”__

Ue = Ircl J(3)2+(2)2+(-6)2 7 7/ e
Fg = Fa.1iy =560 (2 =275 = 14607 - 240] ~4fok N

Fg = Fe.iic =360 (31+% - %% ) = 3607 +260] — 60k N

1'ﬁB =

2-Fp = Fp + Fo = (2007 — 300 — 600%) + (2407 + 160] — 480k)

Fr = 4607 — $40] — 1080k N

Fp = \/(FR)XZ + (Fp)y” + (F),” = [(460)2 + (—840)2 + (—1080)% = 1174.56 N @
a = cos™? (M) = cos~? ( 40 ) = 65‘{9

FR 1174.56
_1 ((FR) —1/( —%40 )
_ 1 y) _ 1 _
B = cos ( FR ) €S "\Tl7as6 9650

y =cos™! ((LFR;—Z) = cos™? ( —1080) = 1568
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F4c = 150kN b= ; Fyp = 140 kN & ; Fep = 150 kN 23
Fep =180 N b= Fp, =120 kN be

(B2, 20 )redll) Jigad) o 5o
1- (Fo), = XF, (Fe)y=—2(4)=—-8kN =8kN «

(Fa)y =3 F, (Fa), = -3(3) = —9kN = 9 kN | @

Fr = \/(FR)xZ + (F'R)y2 =V82+492 =12.04 kN
6 = tan™? (@1) = tan™! (2) = 48.37° N

( R)x

2- YN(Mg)y =X M, = —8x—9y = =3(3)(1.5) — 2(4)(2)
=8x +9y = 29.5
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8(0) + 9y = 29.5
y =3.278m
3- XMy =0=C,(3)-2(4)(2) - (3)(3)(1.5) =0

= €,=9.83 kN 1 @
LE=0; A,—-2(4)=0
= A, =8kN -
2E =0;4,-3(3)+9.83=.0
= 4,=0.83 kN |
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1-EMp =0 122625(3) —Fy (=) @ =0 _ 5
Fgy = 1938.8 N = 1.94 kN
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2-3F,=0;193887 (=) — 122625 - E, =0 @

E, =613.125N
YE =0;E,—193887 (=)=0

/

E, =613.125N
Y M, = 0;613.125(3) — Fppsin45(1) = 0
Fop = 260127 N = 2.6 kN
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